
             Mf];l; khjj; Njh;T – 2024 
tFg;G : 12    Jhj;Jf;Fb khtl;lk;     Neuk; : 45 epkplq;fs; 
                Ntjpapay;          kjpg;ngz;fs; : 25 
    
   gFjp – I 

I. rupahd tpilia njupT nra;f   (5 X 1 = 5) 

1. gpd;tUtdtw;Ws; typikahd mkpyk; vJ? 

(a) HI  (b) HF  (c) HBr  (d) HCl 

2. BrF5 –d;  ,df;fyg;G………. 

(a) sp3d2 (b) sp3d  (c) sp3d3 (d) sp3 

3. igNuhgh];gu]; mkpyj;jpd; (H4P2O5) fhuj;Jtk;……….. 

 (a) 4  (b) 2   (c) 3  (d) 5 

4. gpd;tUtdtw;Ws; vJ nyshp – g;uhd;];ll; mkpykhfTk; fhukhfTk;  

  nray;gl KbAk;? 

(a) HCl  (b) SO4
2- (c) HPO4

2- (d) Br – 

5. gpd;tUtdtw;Ws; mk;Nkhdpak; mrpl;Nll;bd; ePuhu;gFj;jy; tPjj;ij  

  Fwpg;gpLk; rupahd njhlu;G vJ? 

(a) h =  √
Kh

C
 (b) h =  √

𝐾𝑎

𝐾𝑏
 (c) h =  √

Kw

𝐾𝑎.𝐾𝑏
  (d) h =  √

𝐾𝑎.𝐾𝑏

𝐾𝑤
 

gFjp – II 

II. VNjDk; %d;W tpdhf;fSf;F tpilaspf;fTk; tpdh vz;: 10   

  fl;lhak; tpilaspf;fTk;               (3 X 2 = 6) 

6. `hy[dpilr; Nru;kq;fs; vd;why; vd;d? vLj;Jf;fhl;L; jUf. 

7. ,uh[ jpuhtfk;  vd;why; vd;d? mjd; gad;fis vOJf. 

8. Ca3(PO4)2 ,d; fiujpwd; ngUf;fj;jpw;fhd rkd;ghl;il vOJf. 

9. jhq;fs; jpwd; tiuaW. 

10. gpd;tUk; %yf;$WfSf;F mtw;wpd; %yf;$W tha;g;gghL kw;Wk;  

   mikg;G tha;g;ghLfisj; jUf. 

    (i) i`g;Nghgh];ghupf; mkpyk;  (ii) khh;\y; mkpyk; 
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gFjp – III 

III. VNjDk; %d;W tpdhf;fSf;F tpilaspf;fTk; tpdh vz;: 15   

   fl;lhak; tpilaspf;fTk;               (3 X 3 = 9) 

11. mk;Nkhdpahtpd; tbtikg;ig tpthp 

12. `Pypaj;jpd; gad;fisj; jUf. 

13. gpd;tUk; epge;jidfSf;F fiurypd; jd;ik kw;Wk; tPo;gbthjy;  rhj;jpaf;  

   $Wfis vOJf.  

 (i) madpg;ngUf;fk; > Ksp      (ii) madpg;ngUf;fk; < Ksp    (iIi) madpg;ngUf;fk; = Ksp 

14. Y}ap mkpyk; kw;Wk; Y}ap fhuk; NtWgLj;Jf. 

15. gpd;tUk; ePupa fiury;fspy; epfOk; tpidfspy; ,izmkpy-fhu ,ul;ilfis 

   fz;lwpf 

 

 

 

 

gFjp – IV 

IV. gpd;tUk; tpdhf;fSf;F tpilaspf;fTk;        (1 X 5 = 5) 

15. m (i) N`hy;k;]; Kd;dwptpg;ghd; tpthp                    (3) 

          (ii) FNshupd;> Fsph;e;j NaOH kw;Wk; #lhd NaOH cld; GupAk;>  

        tpidfSf;fhd rkd;gLj;jg;gl;l rkd;gghLfisj; jUf. (2) 

    (my;yJ) 

   M n`d;lh;rd; - N`ry;ghf; rkd;ghl;il tUtp   (5) 
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